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4 EXCEL ® f# #{L# % ¢hd #c £ (A)VARP (B)VAR (C)STDEV
(D)STDEVP -

FXRAD A LI0%EUERETIRL 2% B T R AE?
(A)752 (B)1067 (C)1692 (D)2401
dOFRETA R PP A B OREA KT 08 95% i B T S
(1224) PILFEHHERE 72 T o 8 5 52 (A)o,os2 (B)0.05
(©)0.95 (D)0 & 1
WEEW W X0 T A2 F A e B EQXCH2X+D)= (A)6.4  (B)7.3
(©)7.9 (D)9.7

X 0 1 2 3

f(x) 4P 6P 6P 4P

e wVX)=2-V(Y)=3 2 X Y Sz gis % Pk 4L B VBX-2Y)=
(A0 (B)6 (C)30 (D)72

¢ 4 P(AYB)=0.4-P(A[B%)=0.3> ¥ P(B)=0.2>B] P(A)=(A)0.48 (B)0.36 (C)0.24
(D)0.12
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EXEEWE DTS X ZIAFEFEE > B XIREFBA 2?2 (A)F L+
A fe (Po1ss0n d1str1but10n) (B)4p #c~ fe(Exponential distribution) (C)=
78 /& fie(Binomial distribution) (D)% & 4 fiz(Normal distribution) °

& & €A s 8 T4 (Qualitative data)z 4p BEMEPF 0 B (A)F 2k R
(x* test) (B)Pearson 48 B ¥t % (C)= 4 & T # 2 (paired t test) (D)

% B A 49 (ANOVA)
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Ft<-tay’ P E Tm & BEXK (D)E t<-tuw > P F Tm

FX P ZE - (5%)
R X R B (5%)
FPQ=X<4)z i ° (5%)

SR SRS 0 R X AR S 6 2 W A1 iR 0=k i o Aok )
4,6 EJJX—Z’ A

: :% RS e R T S RgeE T AT AR SR S b R A

el

% 50 i M£—1Ef'r ﬁﬁlﬂw\ 7 0 ¥ ANOVA Z’t\,v‘l’%'ﬁ‘-"_r (—%i [ F!T;b):
AEc | Tiog | REZ
oo 50 120 30
% 50 100 25
ANOVA %
SR LB pdR SS MS F
B 10,000
ol
RER 84,725
FATH R R FRBEA A FERATE S BEX © (5%)
BRAFREASITE o (5%)

R A D FUeE T r £33 L8 (0=0.05) ?(5%)
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L fexy 2] 2 B R? - (5%)

2.y # X it 1 o (5%)

y =20+

3.3 M T H, B =051 ANOVA 4 - (10%)

4 ERTFRE 0=0.05 0 BIH,: B, =053 8 E - (5%)

0.6x ¥ S=2 > S=3 x=30 % £ 3

F A ped a=0.05 a=0.025
P(Eyn= Fon)= a H3Fpd Em B3 pd BEm
1 2 1 2
A 29| 4.1830| 3.3277| | ~ 29| 5.5878| 4.2006
2 30| 4.1709| 3.3158| | # 30| 5.5675| 4.1821
) p 31| 4.1596| 3.3048| | 7 31| 5.5487| 4.1648
o - d 98| 3.9381| 3.0892| | * 98| 5.1818| 3.8313
F i 99| 3.9371| 3.0882| | & 99| 5.1802| 3.8298
e N | 100| 3.9362| 3.0873| | N | 100| 5.1786| 3.8284
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